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Instructions

Belfore ailtempting the
question paper, kindly check
your Question Booklel(Q13)
and O.M.R. Answer Sheet
and cnsure that:

- Serial number of Question
Bookletit Q) and OMR
Answer Sheel s sume,

- All papes and all questions
are properly printed

Question Booklet Number
Te IS FAE

In casc of any discrepancy/defect, the candidate should
immediately report the matter 1o the Invigilator for replacement
ol Question Booklet((Q13) and OMR Answer Sheel. No
claim/objection in this regard will be enterluined aller five
minutes of start of examination, candidate will be liable for the
same.

Read all instructions on the reverse of OMR Answer Sheet.

On OMR Answer Sheel, use blue ball point pen only,
Please, 111l your Roll No. and other information correetly in
OMR Answer Shect.

I more than one response is marked lor a question, it would be
lreated as wrong answer,

153 part of the mark(s) ol each question will be deducted lor
cach wrong answer. (A Wrong answer means an incorrcet answer
or more than one answers [or any question).

Each question has five options/eirelcs. First four optionsicireles
{A), (B),(C) and (D) arc related to appropriate answer and tifth
option/cirele (E) is related to “Question not attempted”.

To indicate the correct answer, the candidate has 1o [l in only
one oplion/circle (A), (B), (C) or () with bue ball point pen
for respective question number on the OMR Answer Sheet.
[f the candidate does not want to answer any question then the
fifth option‘eircle “(EY’ should be darkencd.

1/3 part ol the marks will be deducted lor the questions, il none
ol the oplionfeirele are darkened.

If a candidate leaves more than 10 pereent questions or docs
not darken any of the five options, hefshe will be disqualified
for the exam.

Candidale will be given 10} minules exira lo make sure, il
heishe has filled up any onc option/eirele for cach questions.
If there is any sort of ambiguity / mistake cither of printing or
factual in nature in | lindi or Englizh version ol questions, then
the English Version will be treated as final.

Use of Mobile Phone / Bluetooth Deviee or any other electronic
gadget in the examination hall is strietly prohibited. It any such
prohibited matcrial is found with any candidate, strict action
will be 1aken against him/her as per rules.
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‘Warning : If a candidate is found copying or using unfair means ot
it anv unauthorized material is found in histher possession, FIR
will be lodged against himdher in the Police Station and he/she would
be liable 1o be prosecuted under Stale Public Pxamination (Measures

lor

Prevenlions of Unlair Means in Recruilmeni) Act, 2022 and

Amendment Act 2023, The act has provisions of imprisonment of
18 years to life and fine up to T 10 crore. Board may also debar himy
her permancntly from all future examinations conducted by the
Board.

Do not open this test booklet until vou are asked to do so.
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frferfied § € -9 S22 Hickie T8 27

(A) HTTP (B) DNS ﬁg
(€ NIC (D) Telnet

(E) TR we

Gmail 51T ATFaT fFe MB 1 $0er s7eame Tmidh aran 2,
TSPk 918 917 30 Google Drive Toi § gt gqr €2 (M g o

T I TR )

(A) 10MB (B) 15MB

(C) 20MB (D) 25MB

(F) ¥R 94
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1 3
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R T 322 1 f1ad =7 geAT| @l = i UF 919 3d g
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(A) T 165 (B) ¥ 214.35
(Cy 722 (Ny T 242
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(A) T 2000 (B) T 2200
(C) T 1850 {D) T 1600
(L) FE@ws

In Microsoft Word, the keyboard shorteut *Ctrl — E* is used
10 .
fA) Copy sclected text
(B)
(C)
(1)
(E)

In M8 PowerPoint which of the following views is displayed

Align the wexl Lo the center
Scleet the cutire docwment
Capitalive Orst word of the wext

Question not attempted

during a4 conference slide show?
fA) Slide sorter view
(Cy Slide view

{E} Quecstion not atteinpted

(B)  Cutline view

(D) Slide show view

Which of the following 1s nat an Internet Protocol?

(A) HITP (B) DNS

{Cy NIC (D) Telnet

() Question not attempted

What 15 the maximum size {in MB} of email attachment
supported by Gmail, after which it converts the attachment
into a google drive link? {Choose the most appropriate
option from below)

{A) 10MB

(Cy 20MB

{E} Question not attempted

(B) 15MB
(D) 25MB

n
What is the 1ICF of ?, %,% and % ?
1 3
) To B >y
l i)
© <5 ™ 5
(L) Question not attempted

A certain number of persons went to a restaurant. They
belonged to groups A, B and C in the ratio 1:2:3. The
average amount spent on each member of group A, B and C
is T 156, T 165 and T 322 respeetively, Taking all the
persons together, the average amount spent per person is:
{A) T 165 (B) T214.35

(C)y T221 (Dy T242

(L) Question not attempted

Find the distance between the station P and station Q. 1T a
train travels from station P to Q at a speed ot 40 km/r and
returns from station (@ Lo P at a speed ol 60 kim/hr, 10 lake
total time of 5 hours tor the round trip.
(A)Y 150 km {(B) 100 km
(C) 1830 km (D) 120km @
(E)  Question nol altempled

The percentage loss by selling an article for T 1280 is equal
10 the percentage profiv earned by selling the same article
for T 1920, What should be the selling price of the article to
make 25% profit?

{(A) T2000

(Cy T 1830

{E} Question not attempted

(B) T 2200
(M) T 1600
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(A) 2800 (B) 3000
(C)y 2700 (D} 3100
(F) 3rfaia o4

P Q%1 T 5000 HIT R F T AT 14% TN L H Frama
T GURYT H &1 418 4 T9 THE_ P FFA T 4480 =4 (7T,
A1 R T 3R0T 9T & TE T R:

(A) T 1500 (BY ¥ 2100

(C) T 3000 (D} T 4200

(E) 31 o

2011 T SITIET o STTAR, TS o Frataiad e @
Topg Trel 1 T1emar 7 9ad 4 off?

(A) AT (Ry St H
© = (D) ST

(F) ¥R o

forfataa 5 & form T o ~isiae < T qEe Ra €,
o7t e e = fereaw offT gam ¥ fere 3 310 1980 F1
Ty fopar e =

(A) SH (B) FEAH

(C) =& (D} F=ET

(E) ¥ o

Frefafs & & Fe-m Sa-ufam T S o vF 6 T 2
(A) ST (B) gL

(C) 3R (D) ZEAT

(F) Haha ug

frmferfigs & & for =mex & 2009 # fsaq wime SdiEH
(TS o TZT o0 G TR ATt =ied g8 o1

(A) T8 (B)y aTeT

(C) AR (D) SHEHT

(F) ¥R o

TSI § a0 470 o HaH |, RAPCC (317 T 5 i)
1 0 T 1 87

(A) TSTEL U W 3 FeI139¢ Hsla s

(R) TISTeITH U Tl 377 FelgHe shelel

(C) TST=AT U Gifeqet BT FeITese ®aas

(D) TSR U S A FeAlgHe der

(E) 3rfaia a4

REEIIEE et RRIEIRE R ELE ETR

(A) 14578 (B) 1458%.

(C) 14397%, (D) 1460 %.

(L) FE@TT

230 o FEAAAT HUTH (1857 H) 3 S U= ZRT BIG 9 TG
ST+ ATl TS o Tee] =5ith 9 -

(A) Taem fiiz ufi=s (B) A A Hel

(C) 2T =g 3T (D) =& o awEs

(E) ¥R o
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13

14

15
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17

In an clection berween two candidates. one candidate got
55% of the valid votes, when 20% of the votes were found
invalid, 17 the total number of voles polled werg 7300, then
find the munber of valid votes that the other candidate got.
{A) 2800 (B) 3000

(Cy 2700 (D) 3100

(E)  Question nol allempled

T lends T 5000 to Q and a certain sum to R at 14 % per
aninm sumple mterest. 1f atter 4 years, P reecives a total of
T 4480 as interest, then the sum lent to R s

(A T 1500 (B)y T2100

{C) T3000 (D) T 4200

{L} Question not atteinpted

According 1o the Census o0 2011, which of the Tollowing
districts of Rajasthan had the lowest literacy rate?

{A) Alwar (B) Jalore

{Cy Churu (D) Jaipur

(F)  Question nol allempled

Tn which of the following places is the headquarters of
“Projeet Chctak™ that was re-raised on 3 April, 1980 for
cxpanding and improving the road networks?

(A) Bikaner (B) Alwar

{Cy Dausa (D) Ajmer

{E) Qucstion not attcmpted

Which of the following is not a division of the North-
Weslern Railway Zong?

{A) Bikaner

{C)y Aymer

(LY  Question not attempted

(B) Jodhpur
(D) Udaipur

Which of the following cities witnessed an industrial
disaster at an Tndian Oil Corporation (10C) depot 1n 20097
{A) Churu
(Cy Jaipur
(E) Question not attempted

{(B) DBanswara
(D) Jaisalmer

In the context of cinvironmental protection in Rajasthan,
what docs RAPCC stund for?

(A)
(B)
()
(D)
(E)  Question nol allempled

Rajasthan Action Plan on Climae Conservation
TRajasthan Action Plan on Climate Control
Rajasthan Action Policy for Climate Conscrvation
Rujasthan Action Plan on Climate Change

Tn which year did Rao Jodha tound the city of Todhpur?
(A) 1437 AD. (B) 1458 AD.

(Cy 1459 AD. (D) 1460 AD.

(F)  Question nol atempled @
The first person from Rajasthan who was hanged by the
British during the country’s frecdom struggle {in 1857)
Wils-

(A) Vijay Singh Pathik

{C) Amar Chand Banthia
(L) Question not attempted

(B) Agun Lal Sethi
(D) Kesari Singh Barhat
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(C) =T (D) TS
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The size of image formed by concave mirror, when the
object is kept hevond the center of curvature is: E
(A} Magnified (B) Pointimage
{C) Samc sizc as object (D) Smaller than the object
{E) Qucstion not attcmpted

Which state hosted the 150 Hockey India Senior Men
Nalional Championship -2025%

(A} Punjab (B) Uttar Pradesh

{C) Madhya Pradesh (D) Haryana

(E) Question not attempted

When was Operation “SINDOOR” launched by Indian
Armed forces?

{A) Apnl 27,2025

(Cy May 07,2025

(LY Question not attempted

(B) May 10, 2025
(1) April 22, 2025

Who was the player from Rajasthan who participated in
Asgian Junior Women’s Handball Championship held at
Tashkent in August, 20257
{A) Kiyanna Parihaar

{C} Norti Mewada

{E} Question not attempted

(B) Divyakriti Singh Rathore
(D) Avani Lekhara

As per the Union Budger 2025-26, what is the new loan
limit under the Modificd Intorcst Subvention Schemne for
Kisan Credit Card {KCC) loans?

(A) T2 Lakh (B) ¥5TLakh

(Cy T3 Lakh (D) T 10 Lakh

(L) Question not attempted

Tn which state ot Tndia 15 “Hornbill Festival” celebrated?
(A} Nagaland (B) Assum

(C)y Manipur (D) Moeghalaya

(L) Question not attcmpted

Tn which region of Rajasthan 1is the “Kapil Muni Fair’™ held?
(A) Kolayat (B) Chaksu

{C) Chandanpur (D) Nuawalgarh

{E) Qucstion not attcmpted

A form of Rajasthani folk art used to decorate walls,
doorways, doorsills, pluiforms (chabutaras), courtyard and
places of worship cte. s known as:

{A) Phad {(B) Mandana

(C)y Taane (D) Kavad

(F)  Question nol allempled

Which of the following monuments in Rajasthan is known
as the “Taj Mahal of Marwar™?

(A) Jaswant Thada (B) Thlwara Temple

(C) Rangkpur JuinTemple (D) Baleh Prakash Place

(L) Question not attempted

The famous folk song of the Bhils of northern Mewar in
Rajusthan, sung by men and women logether, is known as:
(A) Patclya (B) llamseedo

{Cy Languriya (D) Maand/Mand

{E} Question not attempted

Roop Singh Shekhawal, Dayaram and Tara Sharma are
renowned artists of which Rajasthani dance form?

{A) Garba {B) Ghoomar

{C) Bhavai Dance (D) Terah Taali Dance

(E)  Question nol allempled
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(A) F2RT (B feferm
() 71 (n) Ef
(F) 3rfaia o4
34 Tymaferiiad weai § € forurs visg 1 = fiferu-
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(C) @& (D) 3
(F) Said ug
35 wiEr F of-fawag 2mm-
(A) & (B) Tit+am
(C) FE+337 (D} wiC+SaT
(L) FE@T
36 “IwAROr 758 F dfy-fowe Trm-
(A) =TT (B) 19T
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In the musical drama “Rammart folk drama™ of Rajasthan,
the performers of this musical drama are called:

(A} Kathakans (B) Jogi

{Cy Mediya (D) Khelars

{E) Qucstion not attcmpted

H=IT 1 o 9Ty i 11 e s

T L (3157) F= 1L (e
a.  gE I, | EEEETE
b. R M. e =
c. Fedd I orEres
d. s Iv. oo

it o e el 3 O WA 39T S AT = AN
{Ay a-TILb-T,c-1V. d-T1
(BY a-1lLLb-1I,c-IV,d-1
(Cy a-IV,b-1 -1, d-1I1
(N} a-1,b-1¥,¢- 11 d-1
{E} Question not attempted

fferfiaa 5 9 dcaw 7ree 2-
(A) &t
(C) i

(Ey  Question nol atlempled

Fefafiad § & 9399 181 1 <R HIf -

(By 9
(D) T

a. LS I I

c. afir d. 1

c.

= e g Tareat © O O o7 =1 e e
(A) FaeTh AN e (B) hacta 3N d

(C) FAcTa #H ¢

(L) Question not attempted
fTeIfiad 5 9 ®19-T71 491! 7158 & 22

(A) T2 (B) fefemr

(Cy = (D) F

(F)  Question not allempled

Teferiiaa arsal 8§ 4 et wee %1 == sifsn-
(A) I7ieT (B) 3%

(Cy ¥% (D) &t

(E)  Question nol allempled

(D) FaAd =R ¢

(A T+ (B) wit+aT
(Cy oA (D) Tfvi e
(E) Question not attempted

(A) ITHEROT (B) FEHamm
(Cy =T (D) F=FHH
(F)  Question nol allempled

“FAfiie 3158 | ie-a1 3T 27

(Ay & (B) g
€y #fa (D) A

(E) Question not attempted
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38 YR IeE H HiA-H1 T & 38 YT Wﬁaﬁ:rmw%?
(A) 7T (B) WA (A) T (B) HHT
© ) T (€) T D) &
(E) Wﬁﬂ'gﬂ (E)  Question nol allempled
30 =t SHE T Wi T S Sefafiae § 9 g anigfes | 39 Shei Janki Lal Bhand is renowned for his expertise in which
TEI AT H AT TmTar = faw afig & ﬁ nf.the fnllowir,g traditional pgrfmming art‘s of Rajasthan?
(A) TSI (B) Sl (A} Kathputli (B) Bahrupia
(©) FrRET (D} T () Kalhe!m {IN Rammat
(E) ﬂﬂaﬂﬁﬂﬂﬂ (L) Question not attempted
40 61 il 2fier e e (Eﬁﬁ@l?ﬁﬁl’lx‘rl’f) Famy 40 W]}lch |E‘ll(f:" of IRa_]asthzlln 1.sl }popularly knawn as “Tirtha Ray
e 22 fres Eil)ngAfltai;fiiﬂTi‘;lgz e {B) THchola Lake
s ¥ i
(A) Eis (B) gﬂﬁa (Cy Pushkar Lake (D) Siliserh Lake
() Wgﬁa (M) ﬁiﬁﬁﬁm {E} Question not attempted
(E) 3Aia v o
° . o e N - 41 lHow were the members of the Indian Constituent Assembly
41 14 ST 1947 <AL, AT HIET T4 * HGET 1 I ET chosen on 14th August 19477 (Choosc the most appropriate
BEAT? (o1 | Wl 3ok forsey <) option lrom below)
(A) T e waTs 5T e A=l {A) Dircctcleetion bythe Provincial Lepislative Assemblics.
(B) Wid Farem marst % we g ST <1 (B} Indirect election by the members ol the Provingial
(C)  fore ot At g AT Legislative Asscmblics.
(D) T o ATEA ZRT WA (Cy Nominated by the Queen of Britain.
(L) 3@'&?{ b (D)} Nominatcd by the Viceroy of India.
42 TSI FR SR FRT T SR, T R ¥ (b NG "ot atiempled
T o oITE, AT Tohe T e et T 27 42  An otdinance promulgated by the Governor of a Statc
(A) 18 9HIE (B) 6HHTE remains th force for a 111axi111up1 period of how long after
(C) 24 W (D) 20T the rcasscr'nbly of the State chlslatur?‘?
() _mgﬂ. Eé) lR W eelf.s‘ (B) 6 Weeks |
- L. ) 24 Wocks (D) 20 Weeks
43 ﬂT{?ﬁ'ﬂHﬁjﬂﬂﬂa‘F Gﬂéﬁ'f’o frerferftaa & wffire : (E) Question not attemped
Eg: Ei & ;m;‘;] a 43  The Article-60 of the Indian Constitution is related w the:
] {A) Qath or affirmation by the President ot Tndia.
(C) WA FH g &rmﬁ Frafferer e 1 e (B} Llection of President of India.
(D) W%W%%’Q?ﬁ {C) Qualification for election as President of India.
(k) 31‘:!3?11’{?[9% (D) Conditions of President’s oftice.
44 9d ¥ o I AT g, e sanfusr wF o st (E) Question not attempted
WT%(WWW e 21)? 44 Ilow many Iligh Courls having jurisdiclion over more than
(A) = (B) ¥ ong statc arc there in India (Union Territorics not included)?
(C) §M (D) (A) Five (B) Hight
(F) FgaRauy (C) Scven (D) Three
45 WG T o e gl o Sfenia, “EeriE qrRn 5 (E) Question not atiempled ﬁg
MR 27 45 TUnder which list of the Constitution of India, is tho subject
(A) TS (B) WEHFH of “Local Government” included?
(C) Tl gt (DY e (A} Statc List {B) Union List
(F) 3q:|?|f{?[gsg (C) Concurrent List (1)) Welfare List
46 1 3T e 20245 3 a1l < =5 (L) Question not attempted
HTE LAY 2024-25 & T s/ TIWIT‘JT&HHIH"I ‘Sl%omrh 46 According to the Economic Review of Rajasthan 2024-25.
ATE the estimated per capita income at current prices for the year
(A) % 166,647 (R) T 1,95.053 20:24-25__ based on advance estimates is:-
(C) T 185053 (M) T 190,053 (A) T 1,66,647 (B) ¥ 1,95,053
() St 7 {L1.) T 1,8‘3.,053 (D) T1,90.053
i y & .- N . . (LY  Question not attempted
47 T 2)023 4 R fo e ERdl 47  Which of the following games will be hosted in Rajasthan in
4 . . November 20257
@ S? e 3 ﬂ:\ﬁlﬂﬁ'ﬂ el (A} 5t Khelo India University Games
(B) W@ forg #2025 (B) Kho Kho World Cup 2025
(€ W e du e {C} Khclo India Para Gamcs
(D) WWWW (D) Hockey Men’s Asia Cup
(k) 31’:!3?11’{?[9% {E) Qucstion not attcmpted
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45

49

51

55

WWWW@H’%HMW amchwuwammtﬁ—ﬁﬂ
T T T E? (ﬁﬂwﬁwwﬁwaﬁ)

(A) Wﬂwwwmwmaﬁﬁﬁ?wﬁq
< erT 1 fesrte # R werT wer %

(B) Toumil 1 379 @t W = deeeAt % fmir « fau
Taiir werar e =

(C) Toum =1 Y ST 7wt Eties = forg foef
e Ta 6

(D) e Forwmt =t F i el & fom et wema
PHEEIC

(E) oFgHia 9

TSR TS ol 2025-26 3 SATEN, ‘st ST S
T T I SeT?

(A) T (B) ¥Rt

(C) T (D) ST

(E) oFgHia 9

TR 2025 3 S TR | Fel 41 ged Fee
(KYLC 7.0) F&T STt 5641 =77

(A) TR (B) ST

(C) =7 (D) F=AT

(L) FIE@aws

famaferiigs § ¥ HH-A1 Tk Telida™ G492 T8t 87
(ot T & el 39eh Tersked ) 5%
(A) W.TE. 9T

(B) UEHE ®IEmT

(C) AT (Unix)

() TeLU1UE. HIEE (WPS Office)

(E) Srfaia 74

U TTET T 3, T3 I, TS84 TS 5, GEe HETaawhT 17
a0 (T H | Wt I e )

(A) Fuaus, et (By it = Fwetar

() 2w e (Dy *f FF, Tam

(L) FIE@aws

U 7 T 3 AR o7 R faes ques o &

(A) T (B) = AEEH
(C) Wt (D) W& T
(E) oFgHia 9

TSI 5 TEYT F THIH T 5 18 T & I8 ToauTer
R T2 (P 5 8 Ao I e )

() TeRE tE few (B) =AW wH T fife
(C) TIF foet® (Dy *fsfcr 9 W

(L) FIE@aws

AT H STIe AT o =ArArdi i HRE o o
Y I A &7 (= 1 8 w= 39 (e )

{A) WA & el
(C) IR < T e
(E) 3rfaia a4

HIEISATE AR - 2005 % HTAR -3 71 B ATHR F F0
9L ST I8 GO o To7e steen o @2 (e H ¥ g 3ugh
forehed =)

(A) T209dTm
(C) T129dTm
(E) e 9

(B) T o Tg 9T
(D) T=4 3T T=uTH

(B) T10WGIE
(D) T2

48

49

Ln
3

52

54

tn
th

What is the objective of tflic Mukhyamantri Krishak Sathi
Sahayata Yojana launched by the Rajasthan government?
(Choose the most appropriale oplion from below)

{A) To provide financial assistance to farmers  and
labourers (i casc of tatalitics or injurics to their various
body parts.

To provide Ninancial
construction of irtigation structures on their ficlds.

To provide financial aid to farmers for buying farming
tonls and machinery.

To provide lmancial aid (o landless Tarmers Tor buying
agricultural land.

{E) Qucstion not attempted

According to the Rajasthan State Budget 2025-26, where
will the propused *Block Printing Zone™ be established?
{A) Bagru (B) Sikar

{C}y Sanganecr (D) Jodhpur

{E} Question not attempted

assistance oo Farmers  Tor

(B
(€

(M)

Where was Kalam Youth Leadership Conference
(KYLC 7.0} held in Rajasthan during July 20257
{A) Jodhpur (B) Jaisalmoer

(Cy Jaipur (1) Udaipur

(K - Question nol allempled

Which of the following is net an application software?
{Choose the most appropriate option from below)

(A} MS Paint (B) Adobe Photoshop

(Cy Unix (D) WPS Office

(L) Question not attcmpted

On the formation of the new state ot Rajasthan, who became
the first Advocale General of the state of Rajasthan?
{Chouose the most appropriate option from below)

{A)y Dr. L.M. Singlhvi (B) Slhri G. C. Kasliwal

{C) Dr. SK. Tiwan (D) Shwi RK. Rastogi

(F}  Question nol atempled

The Governor of a State appoints other Ministers on the
advice of-

(A) Speaker

(C) Chief Minisier

() Question not attecmpted

(B) High Court
(D) Prime Minisler

Who became the first Governor of Rajasthan. after the
abolition of the institution of Rajpramukh? {Choose the
mosi appropriale option from below)

{A) Gurumukl Nilial Singhi{B) Maharaj Man Singh II
{C) Raghukul Tilak (D) Shei Bali Ram Bhagat
(E) Question not attempted

Who among the following appoints the judges of the
subordinate courts in India? (Choosc the most appropriate
option from below)

(A} President of India

(Cy Chief Justice of India
(L) Qucstion not attempted

(B) Prime Minister of India
(D) Governor of State

As per the RTI Act — 2003, what is the fee per page of
information, on A-3 or smaller size paper? (Choose the
most appropriate option from below)

{A) ?20 per page (B) ¥ 10 per page
{C)y T 12 per page (D) %2 per page

(E)  Question nol allempled

[42
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8 N 8 ¥ li2 N h\ 8
57 WF 529 | S e B &7 57 Huwman heart ias how many chambers?
A) L (B 2 (A 1 (B) 2
)y 3 Ny 4 X (Cr 3 (D) 4
(E) ANa v ﬂ () Question not attempted
N N - NI 58 Malaria discasc is causcd by:
S8 eIt T foFeh g BT 27 N ) -
. {A) TProtozoa (B) Virus
(A) “EilE AT [_B_) LRIERIRY (Cy Bacleria (D) Fungi
(Q ST (ST (D) =T (£} Question not attempted
(F) Sifeie sv 59 Match List T with List IT -
59 i 1S T i - List g,
il T {Chemical Formulae) (Compound Names)
= N
(T T (TR <1 ATH) a. Nay,CO5-10H,0 L Baking Soda
a.  Na,CO,-10H,0 1 EIEE IS b. Ca(OH), . Tlaster of Paris
b.  Ca(OH), . TR 371 df . NaHCO, . Washing Soda
c.  NuHCO, T01. AT | q
1 d. CaSO,-5H,0 V. Slaked Lime
. CaSO, & T P,
¢ CaSO4 21\—%0 _ I \@T% ks Choose the comrect answer from the options given below:
At farg 7 foeped qqraﬁwg;r: (A) a-TLb-Lc-TV.d-TI
(A) a—IT,b—],c—I\*:d—ITI (B) a-T.b-Te-TV.d-T
(B) E“ﬁlbt‘)“hc‘“‘l’j‘ﬂ (C) a-TLb-TV,c-1.d-1T1
(C) a-M.b-1V,c-1.d- (D) a-TV,b-TM,c-T,d-T
M) a-1v.b-Mhe-T.d-1 E) (Question not attempted
(E) Al W ¢ ‘ aremp
60 The process of burning waste at high temperature n a

60

o1

62

63

64

Forelt Torfary freger gl | 3=2 am9AE 9T SiTE ) S S
TSR R T ST R

(A) wiefha (B) T
(C) =TT (D) e
(E) o7 9

Choose the most appropriate option Lo translale the given

sentence from English to Hindi:

“You will nced the registrar’s signature on this document.”

(A) TTTF TH ST T TS 3 BEaraT 2 =R

(B) 9T 39 TATS W TSRS o e T SITawrehd
&t |

(C) =9 SEATAST TT TN 2 Tareat it ol

(D) =W wEATAS T R o Il 7w 2l

(F) Iaid ug

What is the otficial term for “a written statement confirmed
by oatl or affirmation, for usc as cvidenee in court™?

(A) arbitration ((FE=A)  (R) surveillance (HMTRHT

() affidavit (FeTH-THT) (M) executive (Eh"l'ii—nl-"F;T )

(F) ¥R o

T ol FFTOTREA § & -1 &, S w97 g
44

(A) & (GIBRIESLES

(C) e (D} et

(E) ¥l o

Foeh Tl TSTEAT o freaferfiad o § o wmT @ S Jore! 7
(FFeT 7 & Ao 3 farea =)

(A) I o (By feii femn

(C) W 0T (D) T e

(L) AR 9

6l

62

63

64

specific reactorfurnace is called:

(A) Landfill (B) Reeycling
(Cy Vermicomposting (D) Incineration
(Cy Question not attempted

Choose the most appropriate option to translate the given

sentence from Cnglish to Hindi:

“¥You will need the registrar's signawire on this document.”

(A) IR TH TEAT T A& 36 TETeq 2T =fen|

(B) FTI=I T THES T ToTegr & T F1 STawaahal
BT |

(C) 39 TRIES T UHAET o FEame el o ﬁg

(D) 39 TEIES T TR F FEret 7 Foha 8l

(Cy Quastion not attempted

What is the official term for @ written statement contirmed
by vath or affinmation, for use as evidence in court™?

(A) arbitration (A=) (B) surveillance (D

(Cy affidavit (FTHAMEN (D) execeutive (?I'ﬂrﬁl'ﬁ)

(Cy Quastion not attempted

Which one of the following regions of Rajasthan, is located
on the international border?
(A) Churu

(Cy DBhilwara

(Cy Quastion not attempted

(B) Rajsamand
(D) DBikaner

The Tropic of Cancer passcs tlirough which of the following
parts of Rajasthan? (Choosc the most appropriatc option
from below)

{A) Northern tip

{C} Central part

(L) Quecstion not attempted

{B) Southern tip
(D) Lastern tip
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65

66

67

68

69

70

71

72

freafefiaa ¥ @ S = asem & 7sr sae yHaHe |

ey 87 (101 o o S (ke )

(A) TR (B) R

(C) =Tm (D) HAATG

(E) oFgHia 9

< HE TSR % Frefetea § 9 e afem wrwe{fm 22
(F=7 5 & ot S feorfed =)

(A) T S (B) HErsEm

(C) oSt (D) HTeARET e

(L) FIE@aws

~

TSTE o 12T, 4AT AT AAETS 2l H Fefaied 4 4 e
Yo o1 Tt AT w9 4 Ui Sl 22 (e H ° e 9

fehe =)

(A) IRt gt (B) ATeT-HiefT Tt
(C) el T (D) lewrse g
(E) Srfaia 74

feRelT aFfar ax 10%, =nfes <t & 2 ANt % TerafE s o
T =47 1 AT T 12,50 B 91T F1 F 1Y Fslik =91
T O AT

(A} T 500 (B) ¥ 1000 H
(C) T1250 (D) ¥ 1500
(E) oFgHia 9

o FA T 20,000 F TR FT T HIT MR S0 T T
I A TG, ST W R R A = o 10% TS
B 3R 2 T % 3 H U FA R 4120 AT o, T HART AT
KA EEE IR ERUNE IR

(A) T 7500 (B) T 7800
(C) T 8000 (D) ¥ 8250
(L) FIE@aws

i ST § 4:5:7 % ST H 174 2| e Feoreh "red! 10 78
3R I &1 1T, Al 39g9Td 6:7:9 BT Tl I H 1121 hl Hel g1
oft:

(A) 64 (B) &0
(C) 9% (D) 110
(F) ¥R 94

R T F S F I W T FEAT K W I 4.7 2
BT T T L AT W HFE LY

(A) 17 (B) 2:5
Q) L5 (D} 3:7
(C) F7afa o4

T, YoeT 3T 99w 3 2 50,000 1 91 F1F e 5§ T
SIHT I 6 1 e for) Tamet A e 9 % 4000 ST
3 e P W T 5000 At e ey o9 3 g T
35,000 =7 A1 FUT &, a1 =1 9 Tormet =k faaett wfd fieiito

(A) T 9500 (By T 14,700
(Cy % 11,800 (D) T 16,500
(K) Sraia a4

65

66

67

68

69

70

71

72

Which of the following pcaks is sitnated i the central
Aravalli range of Rajasthan? (Choose the most appropriate
aption [rom below)

{A) Raghunathgarh

{C}y Jarga

(L) Question not attempted

(B) Taragarh
(D) Achalgarh

The “Chhappan Plain” is associated with which of the
following basins of Rujusthan? (Choose the most appropriate
oplion (rom below)

{A) Banas Basin

{C) TLunm Basin

(L)} Question not attempted

{B) “Wahi Basin
(D) Sabarmati Basin

Which of the following types of soil is predominantly found
in repions of Kota, Bundi and Jhalawar in Rajasthan?
{Chouose the most appropriate option from below)

(AY Desert Soil (B) Red-Yellow Soil

{C) Black Soil (D) Laterite Soil

(L) Question not attcmpted

The ditterence hetween the compound interest and siniple

witerest o a certain sum of money at 10% per annum for
2 yoars 18 12,50, Find the sum when interest is compounded

annually.
{Ay 300 (By T 1000
(Cy T 1250 (D) T 1500

() Question not attempted

Bhuvan invested a total of sum ¥ 20,000, partly on simplc
interest and the remaining on compound interest. If the rate
ol interest is 10 % per anmum and he earned a total ol T 4120
as interest at the end of 2 years, then find the sum mvested
on simple interest.

{A)y T7500

(Cy T 8000

(E) Question not attempted

(B) T 7800
(D) ¥ 8250

There were three buckets having balls in the ratio 4:5:7.
When 10 more balls are placed i cach bucket, the ratio
became 6:7:9. The total number of balls inttially was:

(A) 04 (B) R0

(Cy 96 Dy Lo

(F)  Question nol atempled

The ratio of the average of two numbers to one of the
numbers is 4:7. What is the ratio ol the smaller number Lo
the greater number?

(A 1.7

{Cy L5

(E)  Question nol allempled

Vimal, Premal and Shyamal decided to start a business in
partnership by investing T 50,000, Vimal invested T 4000
mare than Premal and Premal invested ¥ 3000 more than
Shyamal. Tfthey carn total T 35,000 profit., then out of profit
how much amount docs Vimal get?

(A} T9500 (B) T 14,700
(C)y T 11,800 (D) T 16,500
{E} Quecstion not attempted

[
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73

74

76

77

78

X, Y @R Z W Tl 0 1 sHan 24, 6 HR 12 B U 9
L 8 THETF FW F W = 39 W 1 Frad il § 3

(A) % (B) 12

o2l 3
© 5= D) 35
(F) Srfdia 94

I8 T ST 28 Wieed fohefl s = 20 T 8 1 R e
ATE 6 T AT 4 AIEEAN, (et W L, A1 S feoha T o g
B ST

(A) 30 (B) 43 .
) 42 (M 36 EE
(E) S¥7eia o

108 km/h 1 7T ¥ g T 970 HiZT 1 e OF g A 1
e 9 Hehe W T % oIl €| gOT =1 ol (sfieT ) &

(A) 1080 (B) 1090
(©y 1100 (MY 1120
(E) F7afawe

T T T HHIE H 6650 Feaah qIZ0 T I FdT 8l
ST | § YRR @9 F1W diLd] 8| 4 Ieared widerd A
Fryfefiae me g EsET T #)

A5

4%

37%,
24P, y
a4

Ti

T —

AEAT  ATAE gEEr EER e

HTTETI S &P #h ScAliae Tefgrd Wiedl i §e A 8-

(A} 1197,1330 (B) 1463. 1596
(C) 1064, 1330 (DY 1064, 1197
(F) ¥R o

frfefiad ¥Ei A ¥ SO EF #1 wE TR
(A) FETT® (B) FT=ETH
(C) mearaE (D) =R
(E) 2AgaRa o4

T TG UoREl T, Si el ST ST EN” - T § S JEE
G T O e #

(A) AHLIA=H GAM  (B) TEVETE FAW
(C) T T (D} T wey
(E) Srfaia 94

73

74

75

To

77

78

X, Y and Z cach can coniplete a work 1 24, 6 and 12 days
respectively. Working together in how many days will they
complete the same work?

(A) ;—4 (B) 12
(C) 3% (D) 3%

(L) Question not attempted

18 men or 28 women can complete & work in 20 days, T
6 men and 4 women work logether, then in how many days
will the work be completed?
(A) 30
(Cy 42
(F)  Question nol allempled

{B) 45
(D) 36

A 970 m long train running at a speed of 108 km/h passes a
mnnelin 1 minute 9 seconds. The length of the tunnel {in m)
is:

{A) 1080

{C)y 1100

{E} Question not attempted

(By 1050
(D) 1120

Onc comipany have a production of 6650 clectric motors
during a weck. Company works from Monday to Friday.
Day-wise production in percentage is represcited by the

following graph.
257 4%
2%
20%
201 8%
16%
15+
xS
£
g
£ 0r
5 4

Monday Tue:;da}-' Weclécsda}-' Thursday  riclay
Duys of Week —>
The number of electric motors produced on Tuesday and
Thursday are respectively -
(AY 1197, 1330
(C)y 1064, 1330
(E) Question not attempted

faeforftaa =i 8 & B dar w1 Se &
(A) SiidaT==H (B) =g F
(C) 3nEEETE (D) =ARhRaTaE
{E} Question not attempted

(B) 1463, 1596
(D) 1064, 1197

42

1 Hay 0 o g 87

(Ay FhggarE gam

(C) HeraaT=e gaaT

(L) Question not attecmpted

(B) &I HaAH
(D) s gaam
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80

81
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84

86

87

38

89
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42

(A) T R (By 7hH fram
(C) Al Tormr (D) TEHTA: [ohT
(F) Sraia s

frreferiige mreet & @ “Siie1” T8 l Gaigar=l 721 82
(A) TeEud (R)y wiffmofi

(C) e (D) il

(F) rqaia g%

STl Wo8 1 el T

(A) = (B) wfaga

(©) 9™ (D) =g

(L) FE@TT

Hefll Tl T ST AT STl o T 3fee 2reg BT
(A) AT (B) I«

(©) sAfgdi (1) I

(L) A7aRa 9

Tt i STl & ¥ 191 A1 6l = Hifsi-

(A) =0 fermerg ¥ =1 € o £
(R) T BRMETE! AR 7|
(C) ¥ T I 2

(D) am%raﬂﬁ:rrrr%

(E) St o

FreferiEd | ® S H-9 A ST TOaH e 6 E 2
(A) AIEd g 38 | (B) HIET AR
(C) wiT srft-onft BrFem $1 (D) YA T3 TOT SO |
(F) 3rfaia o4

T IR T e 7 o -

(A) Wwaﬁwaﬁr&aﬂm

(B) T 1 EITEW T

(C) I BT

(D) BT ST WA T

(F) Igahaug

“Notification® ¥ [eTS, 52 &1 =T AT {&we] 71o5 &

(A) ITTEHTH (Ry dioe
(C) (D) T ST
(F) WHEI-?—T

AT LRI G T&] AT T [6dd =9 4 F=1 1 =6
R, T8 TEHT T R

(A) o fsfngm (B) wRE=ATEM
(C) STHTE Z (D) FETCTT AT T
(F) 3rfaia o4

Fill in the blank in the following sentcnee with the correct
lense:

Jubin

(A) is baking
(C) have being baked
(F) eIana o4

Choosc the most appropriate option to convert the tollowing
senlence rom Aclive Lo Passive voice:

She told him to come carly.

{A) e wld her w come early.

(B} Hc had been told by her to arrive late.

(C) e was wld by her Lo come early.

(D) Come carly, she told him.

(F) STgaia 9y

the plum cake by this time tomorrow.
(B} had buked
{D} will have baked

79

30

81

82

83

34

36

87

88

39

ﬁquwaﬁwwﬁqtq@m% Hﬁ\_ﬂ'ﬁﬁ%”

(A) FRAS R (B) 7Y AT
() i e (D) e

{E} Question not attempted

TwTferiEa w=at § 9 -=iet 91o8 = o aams] T8 22

(A) =EIT (B) Ol
(C) SATeET (D)
{E} Question not attempted
“FTH TR T e BT
(A) = (R) S
() g (D) F

{E} Quecstion not attempted

HeTE e I S e ST e 5 ot 3 9res -
(A} 30 (B) 7S
() wfgdm D) ST
{E) Qucstion not attcmpted
Frefertiaa AT | & T8, T T = -
(A} sqﬁmmqﬂq‘lfﬂsr%l
(B) WETH! SHEETE HARET T
(C) e Ul g B
(D} aﬂﬁé?anm:rr:r%‘l
(E) QLLGMIOT‘I not allempled
frr=feriiaa o & 9 -o7 1o Sy adaH FeT F1E 2
(/) T Yo I3 |
(R) g 311 T 20 |
(€)== aefi-and a1
(D) HWEd: oE el S
(L) Question not attempted
3T W T gErE A B
(A) Ww%ﬁwmw
(B) T % SR AT
(Cy I &
(D) T <UTET G T
{E} Question not attempted @
‘Notitication’ #Wﬂﬁﬁ%wmﬁﬁ%r_ﬂw%—
(A) FTEATH (B) Wi
(C) mﬁvﬁm (1) Frafeg amem
{E} Queqtmn not attempted
I TR T AR 7 o 9 ¥ = e =t
¥ I THER TP R R
(B) HAREATZRT

(A) I femfir gro
(C) ST (D) e R ZR

(L) Question not attempted

Fill in the blank in the Tollowing sentence with the correct
tense:

Jubin

{A) isbaking
(C} have being buked

(E) Question not attempted

the plum cake by this time tomorrow,
(B) had baked
(D) will have baked

Choose the most appropriate option to convert the following
sentenee from Active to Passive volce:

She told him w come early.

{A) He told her to come early.

{B} Hc had been told by her 1o arrive late.

(Cy He was twld by her to come carly.

(M) Come early, she told him,

{E} Question not attempted
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Clioosc the most appropriate option to convert the tollowing
sentence from Direct to Indirect speech:

Pali said, “Arjun, please pul your hat back on.”

(&)
(B)
(%)
(D) Pali told Arjun wo pul on his hal,

(L) FE@TT

25 FT 1948 Tl T, TSTEUT 69 3 TRt TeFH & 5 9
(A) ERTeATe T (By {1 OH

(C) T AT SAHTET (D) TSI et 991

(F) Said ug

faefefige # @ TTedH 4 9 974 & 119 39U F §9 H
FEE T

Pali requested Arjun to put his hat back on.
Arjun was requested by Pali to put liis hat on.
Pali asked Arun to put her hat back.

(A) AT ITRer (B) SR aTES YA
(C) T T T8 (D) ¥ e TarEa
(F) Sraia s

(A) TrEmETE (B) TS

(C) W (D) st

(F) 3rfaia o4

IAATE WA % S8R, 98 1= 0= {590 5 Tl
HEIA1, 36ehl Tsrl, 2T HIT ST 7 i Therl 2, 38 F5d
g,

(A) [T (By Afa

(C) T (D) FTHTA

(F) Said ug

“Hrerd™ 797 1 forae = fore forg ot =1 vl fomm s 22
(A) TEHER (B) FATH

© ¥ (D) T

(F) 3rgaia o4

AV HIE H 1Sl o STEE 9L TTeIHT G {50 Feprt #i o
Teel 8y (e & & v 37 foreed =)

(A) T (B) HiBeT

(C) @i (D} ST

(F) 3rfaia o4

1 g=ttarg A1 H 9 S H-H1 SN TSR AfeersA g e
g5 ST 87

(A) TemrFrat (B) FTHaA

(C) TRY (D} TRFET

(F) 3rfaia o4

fraferfiga # 4 forg dficer woger & = afet geeem §
WA (S ') [ =9 o 0 &7

(A) | (B) WEE

(C) &m (D} 2

(F) S 9=

AT STt o1 Hie et T 4 faferiiad # @ fea v 0
Teorr a7

(A) TOTT (B) TR
(C) TEaHT (D} SRR
(F)  Srfaia 9=

90

91

92

93

94

95

9%

97

98

99

Choose the maost appropriate option to convert the following
scitenee from Direet to Indirect specely:

Pali said, “Arjun, pleasc put your hat back on.”

fA) Pali requested Arjun to put his hat back on.

{B) Arjun was rcquested by Pali to put his hat on.

fC) Pali asked Arjun to put hier hat back.

{D) Palitold Arjun to put on his hat.

{E) Qucstion not attcmpted

Who became the first Prime Minister of the TUnion of
Rajasthan, formed on 25 March 19487

{A) Hiralal Shastri {B) Socbha Ram

fC) Gokul Lal Asawa (D) Manilva Lal Verma

{E) Qucstion not attcmpted

Who among the tollowing trom Rajasthan served agthe 11t
Vice-President of India?

fA) Pratibha Patil

{B) Jagdecp Dhankhar

{C) Gopal Swarp Pathak

{D} Bhairon Singh Shekhawat

{E) Qucstion not attcmpted

“Nagarchiol” is a sub-dialect of which Rajasthani dialect?
fA) Shckhawati (B) Hadot

(C)y Mewarl (D) Dhundari

{E) Quecstion not attcmpted

According to Motilal Mcnaria, the poctic text where we find
the deseription of the greatness of a king, his conquests,
wars and valour 1s called:
{A) Raso

{C) Vaclinika

{E) Qucstion not attcmpted

(B) Vecli
{D) Jhamaal

What is the script used to write “Malvi® language?
fA) Gurumukhi {B) Devanagpari

{Cy Urdu (D) Roman

{E) Qucstion not attcmpted

What kind of turban do the Rajasthani men wear on the
occasion of Tegj in the month of Shravan? (Choosc the most
appropriate option from below)

fA) Madecl {B) Mothda

{C}y Lahariya (D) Bandhe

{E) Qucstion not attcmpted

Among the names listed below, which s an article of
jewellery worn by Rajasthani wormen around the neek?

fA) Timaniyan {(B) Karnphool

fC) Nogri (D) Rakhadi

{E) Qucstion not attcmpted

Among which of the tollowing communitics of musicians is
the Morchang (Jew’s harp) particularly popular in western
Rajasthan?

{A) Bhopa H
{C} Lanpa

{E) Qucstion not attcmpted

(B) Sahariva
(D) Nat

The main temple of Veer Tejaji is located in which of the
following places in Rajasthan?

fA) Ranthambore {B) Kushalgarh

{C) Parbatsar (D) Bagore

{E) Qucstion not attcmpted
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13 18 1Y 13 li2 SIS S X R &
100 TSR R b ¥ feem g o TRl &g A | 100 In which of the following rcgions of Rajasthan was the
HEieda-2025 FAET 1?2 Ranakpur Jawai Bandh Festival -2025 cclebrated?
(A) TREZ SIER (B) EEET @ fA) Mount Abu (B) Bundi
(C) TS (D) et {C) Jhalawar (D) Pali
(E) aﬂﬂﬁﬂ el {E) Qucstion not attcmpted
101 T H Sieiie g & 9 H Fefaiaa § g i ar 2 gel | 101 Which of the following statciments is eorrect about alluvial
4 soil i1 Rajasthan?
(A) 78 FH 9SS W2 Bl (A) Itis a less fertile soil.
(B) ¥% ﬁ:@ ﬁ?:; T4, T # R W * %IQ SiEd T R {B) This soil is 1ot suitable tor wheat, cotton, mustard and
(C) FE Hicugn, SR, Yiam S §E e § Wl 2, tobacco.
Sifrr 3 e e 2 {C) It is rich in Calcium, Phosphorous, Potash and Iron
D) 8O T 35 <l S S 2 coutents but lacks in Nitrogen.
' = ' {D) Itis also known as Regur Soil.
(E) 37 i {E) Qucstion not attcmpted
102 . Eﬁqmqu\iaﬁ Fevftfiad o & -8 Fomee: e g 102 Which of the following factors does not influence the
T 27 . climate of Rajasthan?
(A) Hﬂ?ﬁaﬁ (A} Distance from the sea
(B) eereier Rl (B) Latitudinal position
(C) 9 i feam (C) - Wind direction
(D) TS § el S et Aot ([} Dialects gpoken in the state
(E) agaﬁf{ﬁ B (E) Question not attempted
103 TSI H 2024 ©, A Hiw (E‘j’_ﬁﬂa’{) Hane g uEs | 103 1o Rajasthan which month during the monsoon scason
T et of e ANt = 9oy = wieE oS e T {June-Seprember) in 2024, recorded the lowest percentage
(A) fodee (B) of Long Period Average (LPA) raintall?
(©) e (D) T (A} September (B) June
E) Qq — (Cy July (D) August

104

105

106

107

Freaferiias & 9 SHH-wT Feaelia I, USEH o S &
fere?

(A) TN A S AR

(B} Wi A= AT

(C) FAHER TS ST

(D) IITE TS SR

(E) oFgHia 9

T AT SE o UeeyE & FrefeRaa 0 € G s o
fere?

(A) 991 (By ST

(C) S (D) e

(E) i 91

Freateriiae 1 & it siier steray, T ¥ e &7
(&) facfieg (B) rsarm

(C) ATE HIR ) RETER: U

(E) ST 7

ffafas # & w-an as AT A8 e = T T
(A) T I (B) T

(C) T T (D) TSI

(E) ¥ 9

104

105

106

107

(LY  Question not attempted

Which of the following wildlifc sanctuarics, is located in
Baran rcpion of Rajasthan?

(A)
(B)
()
(D)
(E)

Mansa Mata Conservation Reserve 1s situated in which of

Ramsagar Wildlife Sanctuary
Sariska Wildlife Sanctuary
Vanvihar Wildlife Sanctuary
Shergarh Wildlife Sanctuary
Question not attempted

[42

the following regions of Rajasthan?
(B) Jaipur
(I Bikaner

(A} Jhunjhunu
(Cy Jodhpur
(E) Question not attempted

Which of the following lakes is located in Alwar, Rajasthan'?
(A) Siliserh {B) Didwuana

(C) Anand Sagar (D) Kanak Sagar

(LY  Question not attempted

Which of the following statcs is not a part of the Mali river
basi?

fA) Madhya Pradcsh
{C) Uttar Pradesh

{E) Qucstion not attcmpted

{B) Gujarat
(D) Rajasthan
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108 g = SFTIET (20113 * HIH, + k33l FEHEAT | 108 As per the Census of India (2011), the total population of
i ﬁ@ﬂ SEEAT 1 TohaaT wiaa o Rajusthan was what percentage of the total population of
(A) 10.11% (BY 5.66% India?
(Cy 7.85% (D) 11.20% (A} 10.11% (B) 5.66%
(E) 3.]?13?"&?[ e (Cy 7.85% (D) 11.20%
. . [y Question not attempted
109 TSR H 19T Y19 SRR 3 o 72 woaar 22 E P
(A) ST (B) ?‘ljf 109 Ra.na Pratap Sagar dam is built on which tiver in Rajasthan?
(C) et (D) wrE (A} Banas (B) Lum.
E) T S (Cy Chambal (D) Mahi
N . - . . (E) Question not attempted
110 TSR % Frafafad el § 9uEe (JFTE) & 3587 # a . _
i : ) 110 Teak trees forest is found the most amonyg the following set
T T T & - [ districts of Rajasth
; oy ol districts ol kajasthan -
(A) -dﬁ*-ig(, S;Ili(, EIRIELENE LI (A) Udai DJ Thal Chitt h
3 . aipur, Dungarpur, Jhalawar, Chittorgarl
(B) Taiiey, wrefl, 3R, ST EE RS oY 5
) . 5 ~ (B) Sirolu, Pali, Ajmer, Jaipur
(C'? T LT (Cy Jaisalmer, Barmer, Jodhpur, Chury
(D) L 9L F T (12)  Sikar, Jhunjhunu, Kota, Nagaur
(E) SgAa s {E} Question not attempted
111 Choosc the most appropriaic option 1o transtorm the
following Negative Scutence to an Atfirmative Scitence: 111 Choose the most appropriate option to transform the
We did not find many students. following Negulive Sertence o an AMMimative Senlence:
(A) No students were found. We did not find many students.
T £ S {A) No studcnts were found.
(B) Wc found a foew studcnts.
{C) Somic of us were found. (B) Wec found a few students.
(D) Swdents were hardly cver found. (C) Some ol us were found.
(E) Sl 9 {D) Students were hardly ever found.
~ (E) Question not attcmpted
112 Choosc the most appropriatc option to transtorin the given
. . 112 Choose the most appropriate option to transforim the given
Interrogative Seutenee to a Negative Scntenee: . .
. nterrogative Scutenee to a Negative Sentence:
1 pative Scut to a Negative Scnt
Why blame him? .
A Hed s all fho bl Why blame him?
(A) He ) eserves all the amc: (A} e deserves all the blame.
(B) Ho is usually the target of the blante. {B) He is usually the target of the blame.
(C) He should not be blamed. {C) Hc should not be blamed.
(D) Should he 1ot be blamed? (D} Should he not be blamed?
(E) =7 TSP (E)  Question nol allempled
113 Choosc the most appropriate option to transtorm the given | 113 Choose the most appropriate option to transforn the given
Assertive Sentence to an Exclamatory Sentenec: Asserlive Senlence Lo an Exclamatory Sentence:
It is sad to think that he dicd so young,. Tt is sad to think that he died so young.
(A) Wish lic was still here! {A) Wish he was still here!
(B) Alas! He died so young. (B} Alas! He died so young.
(C) Bravo! He dicd but young. (Cy Bravo! e died bul voung,
(D} Did he really dic at such a young agc? (I} Did he really die at such a vouny age? ﬁ
(E) Hfia?lﬁﬁ e {E} Question not attempted
114 Choose thie niost appropriate option to correct the following | 114 Choose the most appropriale oplion 1o correct the following

scatence:

He has been to Amrapalli, did he?

{(A) should he? {B) hadn’t he?
(Cy didu’t he? {D} hasn’t he?
(E) g 9

sentence:

He has been to Amrapalli, did he?

{(A) should he? {B) hadn’t he?
(C) didn’the? (12) hasn't he?
{E} Question not attempted
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Fill in the blank with the most appropriate word to complete
the given sentence:

I was with work towards the cad of' the vear.
{BY cnundated

{D} undated

(A) inundated

{C) cmounciated

(E) oFgHia 9

Match List I with List IT -
List1 List I
{Scntences) {Articles)

a. Hewon  Tony I a
award last year. by

b, Germanis II. an ﬁ
difficult langnage.

¢.  Prince Vikramaditva 11, the
is _ anuable person.

Choosc the 1most appropriate answer trom the options given

below:

(A) a-Lb-Ilc-1I (By a-lI,b-I,c-1

(C) a-1ILb-IL¢c-I (D) a-lI,b-Ic¢-1I

(E) oFgHia 9

Choosc the sentence with the correct use of determiners.

(A) Each student brought his book.

(B) They hiave much applcs.

(C) 1don’t have a inforniations.

(D) There is scveral money in his account.

(E) oFgHia 9

Fill in the blank with the most appropriate preposition:

The court has absolved him the crime.

(A) ftrom {By of

(C) with {D} along

(E) oFgHia 9

Cloosc the option with the correct use of punctuation(s):

(A) “I am going to the mall” tomorrow, she said.

(B) The prodigy, is but just two Maya.

(C) Ah! We are ruined.

(D) Pleasc scnd the following items of furniture: chairs
benehes tables and stools.

(E) i 91

Cloosc the imost appropriatc option 1o translate the

following scutenee from Hindi to English:
B v whrg Tt 4 & e

(A)
(B)
(C)
(D)
(E)

T amn not going to give you a warnilg.
I am not going to give yvou any advice.
I amn not willing to give you the permissiol.

1 am not going to give vou any cxplanation.

AT W

115

116

117

118

119

120

Fill in the blank with the most appropriate word 1o complete
the given sentenec:

1 was with work towards the cnd of the year.
fA) inundated (B) cnundated

{C} ecnunciated (D) undated

{E) Qucstion not attcmpted

Match List I with List II -

List I ListIT
{Scntences) {Articles)
a. Hewon Tony . a
award last year.
b.  Germanis II. an
difficult lanpuage.
¢.  Prince Vikeamaditya III. the

is __ amiablc person.
Choosc the most appropriate answer from the options given
below:
(A a-Lb-IIlc-11
(Cy a-1Lb-MI,c-1

{E) Question not attcmpted

(B) a-ILb-ILc-I
(D) a-ILb-Ic-II

Choose the scitence with the correct use of determiners.
(A)
(B}
(C)
(D)
(E)

Eacli student brought lis book.

They have much apples.

I don’t have a ntormations.

There is several moncy in his accoult.

Question not attempted

Fill in the blank with the most appropriate preposition:
the crime.
(B) of
(D) along

The court has absolved him
{A) from
{C) with

{E) Qucstion not attcmpted

Choose the option with the correct use of punctuation(s):
fA) “Iam going to the mall” tomorrow, shc said.

(B)
()
(D)

The prodigy, is but just two Maya.
Al! We arc ruined.

Pleasc send the following itcins of turnimre: chairs

Choose the most appropriate option to translate the

benches tables and stools.

(E)

Question not attempted

following scitence from Hindi to English:

< e % TR 7 3 A

{A} Ian not going to pive you a warning,

{B) Ianinot going to pive you any advice.

fC) Iam not willing to pive vou the permission.
{D} Iam not going to pive you any cxplanation.

{E) Qucstion not attcmpted

2509M K-




"y & ‘. < I o ce ‘o <o
A H At LS i 8 NEE 18 16

SPACE FOR ROUGH WORK /T% &1 < oTu T4

I A H 2l it & - e uhe o T wfd, wen wailh o wlen w9 sied @ 0@ adanel S v D b vl e @,
Tl Ea fae T i ol S1em 21 L | Siereh 2R I FEAF o 4 T 1 A I8 HT R, TS Sl 1 gt i ¥ e < 6 HiE #1
AT GoieF STer <6 oteredf =1 S | adtemef? fadior e 5 s1od e o e |

2509M K-



